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Instructions:

(  Do not begin until you are instructed to do so.

(  Fill in all required information on the front page of your answer booklet.

(  Calculators are not permitted.

(  Rulers, compasses, protractors, rough paper and graph paper are permitted.

(  Diagrams are not drawn to scale. 

(  You may keep this copy of the contest so you must place all of your answers in the answer booklet.  

Scoring:

(  This individual competition is out of 100 marks.

(  There are 15 multiple-choice questions and 5 full solution questions.

Multiple Choice (50 marks):

(  Each incorrect answer is worth 0 marks.  

(  Each unanswered multiple-choice question is worth 1 mark.   

(  Multiple-choice questions #1-10 are worth 3 marks each and #11-15 are worth 4 marks each.

Full Solution (50 marks):

(  Full solution questions are each worth 10 marks.  

(  Sufficient work must be shown to receive full marks for a full solution question.

(  Partial credit may be given to incomplete solutions if relevant work is shown.
Multiple Choice (50 Marks)

Place all answers in the multiple-choice boxes on the front page of the answer booklet.

___________________________________________________________________________________________

Questions #1-10 below are worth:
3 marks for a correct answer

1 mark for a blank answer

0 marks for an incorrect answer 

1.
How many even numbers are there between 9 and 29?


(A) 8

(B) 9

(C) 10

(D) 11

(E) 12

2.
If Tiger is older than Ryan, Anne is older than Ryan, Bruce is Older than Anne, Ryan is older than Andrew, and Bruce is older than Tiger, then who is the oldest?


(A) Ryan

(B) Tiger
(C) Bruce
(D) Anne
(E) Andrew

3. 
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(A) –1

(B) 1

(C) 0

(D) 2

(E) -2


4.
If 7x + 12 = 26, then 14x + 24 = 


(A) 2

(B) 7

(C) 14

(D) 26

(E) 52


5. 
LeBron is holding upright an old fashioned clock in front of him while looking into a mirror.  The only numbers written on the clock are the 12 and the 6.  LeBron sees that the time on the clock in the mirror is 4:35.  What is the actual time?


(A) 4:35

(B) 7:25
(C) 7:35
(D) 11:25
(E) 11:35


6.  
Gus works 8 hours a day, 5 days a week, for 36 weeks during 2003 at a wage of $16 per hour.  He is expected to work the exact same amount during 2004 and will be paid the same hourly wage for his work.  But Gus gets hurt playing hockey and can only work for 20 weeks.  However, he gets paid a total of $5000 from his insurance company to compensate for his injury.  How much more money would Gus have made working if he wasn’t injured during 2004?  


(A) $640

(B) $1200
(C) $2420
(D) $4400
(E) $5240

7. 
An equilateral triangle with perimeter 3 is cut off from the corner of an equilateral triangle with perimeter 15.  What is the perimeter of the resulting quadrilateral?


(A) 11

(B) 12

(C) 14

(D) 15

(E) 16

8.
Let 
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be the product of the digits of the positive integer n.  What is 
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(A) 2

(B) 8

(C) 16

(D) 64

(E) 96

9.
A square and a circle have equal perimeters.  The ratio of the area of the circle to the area of the square is


(A) 
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10.  
If 
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, then which of a, b, c, and d is the largest?


(A) a

(B) b

(C) c

(D) d

(E) cannot be determined
___________________________________________________________________________________________

Questions #11-15 below are worth:
4 marks for a correct answer

1 mark for a blank answer

0 marks for an incorrect answer

11.
After finding the average of a list of 35 numbers, a student places the average on the list.  The student then calculates the average of the 36 numbers on the list.  What is the ratio of the original average to the new average?


(A) 1:1

(B) 35:36
(C) 36:35
(D) 2:1

(E) None of these

12.  What is the last digit of the product of the first 2005 prime numbers?


(A) 0

(B) 1

(C) 2

(D) 3

(E) 5 


13.  How many 5-digit numbers are there that are both a perfect square and perfect cube?


(A) 1

(B) 2

(C) 3

(D) 4

(E) 5

14.
Let P equal the product of 3,659,893,456,789,325,678 and 342,973,489,379,256.  The number of digits in P is


(A) 32

(B) 33

(C) 34

(D) 35

(E) 36

15.
An 18 inch by 24 inch painting is to be placed into an open wooden frame with the longer dimension vertical.  The painting and frame do not overlap.  The wood at the top and bottom is twice as wide as the wood on the sides.  If the frame area equals that of the painting itself, the ratio of the smaller to the larger dimension of the framed painting is


(A) 1:3

(B) 1:2 

(C) 2:3

(D) 3:4

(E) 1:1

___________________________________________________________________________________________

Full Solution (50 Marks)

Place your solutions to these questions in the answer booklet.  

Each question is worth 10 marks.

You must show sufficient work to receive full marks, but if you do not completely answer a question you may still receive partial marks for showing work.  So show your work!

___________________________________________________________________________________________

1.
A circle and two distinct lines are drawn on a piece of paper.  




(a) What is the largest number of points of intersection of these three figures?  




(b) What is the smallest number of points of intersection of these three figures?

2.
If X and Y are single digits, what is the sum of X and Y if 1756 minus X9 equals 16Y7?

3.
Mr. Snail starts at one end of a wooden plank of length 1 meter and walks towards the other end at a speed of 50 centimetres an hour.  Each hour after Mr. Snail begins his journey, his nemesis, Mr. Genie, extends the plank by 
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 centimetres.  How long does it take Mr. Snail to reach the end of the plank?

4.  
On the 2005 TBHSMC, the sum of the non-negative scores of Bill and Dick equalled the sum of the scores of Ann and Carol.  The sum of the scores of Ann and Bill is greater than the sum of the scores of Carol and Dick.  If Dick’s score is greater than the sum of Bill and Carol’s score, determine the order in which the four contestants finished.  

5.
Nine lines parallel to the base of a triangle divide each of the other two sides into 10 equal segments and divide the area of the triangle into 10 distinct parts.  If the area of the largest of these parts is 38, what is the area of the original triangle?

___________________________________________________________________________________________

4 of 4

_1170603124.unknown

_1170605017.unknown

_1176561573.unknown

_1176562816.unknown

_1170605109.unknown

_1170603171.unknown

_1170603194.unknown

_1170603080.unknown

_1170603108.unknown

_1164219977.unknown

_1164220495.unknown

